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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It'f" denotes the ratio of the number of nuclei decayed (N ;) to the number of nuclei at t=(
(N;) then for a collection of radioactive nuclei, the rate of change of ’f" with respect to time is
givenas .

[\ is the radioactive decay constant]

Options :
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Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Young's double slit experiment, if the source of light changes from orange to blue then :
Options :

: the intensity of the minima will increase.

, the distance between consecutive fringes will increase.

2 the distance between consecutive fringes will decrease.

the central bright fringe will become a dark fringe.
4.
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The relative permittivity of distilled water is 81. The velocity of light in it will be :
(Given p, =1)

Options :

, 3.33x107 m/s

107

, 433%10" m/s
107

3 0.33x10” m/s

, 2.33x107 m/s
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(b =1)

Options:

3.33x 107 m/s

1

107

, 4.33X10" m/s
107

3 0.33x10” m/s

, 2.33x107 m/s
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Correct Marks : 4 Wrong Marks : 1

R=100Q
N WW
100VT T C=1pF

A capacitor of capacitance C=1 pF is suddenly connected to a battery of 100 volt through a
resistance R=100 (1. The time taken for the capacitor to be charged to get 50 Vis :

[Take In 2=0.69]
Options :

;. 0.69x107 %5

, 0.30x 10" *g



3 1.44x10 %5

4 3.33x10 %5

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A 007 H inductor and a 12 () resistor are connected in series to a 220 V, 50 Hz ac source.

The approximate current in the circuit and the phase angle between current and source

22
voltage are respectively. [Take 7 as 7]

Options :

8.8 A and tan_l[%)

1.

0.88 A and tan ! [EJ
2. 6

88 A and tan_l[%)

3.

1( 6
8.8 A and tan aaile
an [11)

4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

8.8 A ™3I tan ! [%J

1.



0.88 A 3 tan‘l[l—;]

88 A M3 tan_1[£]
3. 6

(6
8.8 A M3 tan 1[—]
11

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A light cylindrical vessel 1s kept on a horizontal surface. Area of base1s A. A hole of cross-
sectional area ‘a’ is made just at its bottom side. The minimum coefficient of friction necessary

to prevent sliding the vessel due to the impact force of the emerging liquid is (a << A) :

Options :
d

1. A
2a

2. A
A



4. None of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the given figure, a battery of emf E is connected across a conductor PQ of length I and

different area of cross-sections having radii r, and 1 (1, <,).

Choose the correct option as one moves from P to Q :

Options :

: Drift velocity of electron increases.

» Electron current decreases.
3. Electric field decreases.

4 All of these

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two capacitors of capacities 2C and C are joined in parallel and charged up to potential V.
The battery is removed and the capacitor of capacity C is filled completely with a medium of

dielectric constant K. The potential difference across the capacitors will now be :
Options :
Vv

1. K
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In the reported figure, a capacitor is formed by placing a compound dielectric between the
plates of parallel plate capacitor. The expression for the capacity of the said capacitor will

be : (Given area of plate=A)
Cl CZ c3

K| 3K XK
<—d—><—2d->¢—3d->
Options:
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1. 6 d

15 KegA
, 34 d
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A particle starts executing simple harmonic motion (SHM) of amplitude ‘a” and total energy
3E
E. Atany mstant, its kinetic energy is I then its displacement *y/ is given by ;

Options :



y=a
2 2

g B3
3, 2
. y=a

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two identical tennis balls each having mass ‘m" and charge ‘q" are suspended from a fixed
point by threads of length ‘T'. What is the equilibrium separation when each thread makes a
small angle ‘8" with the vertical ?

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the reported figure, there is a cyclic process ABCDA on a sample of 1 mol of a diatomic
gas. The temperature of the gas during the process A — Band C - D are T; and T,
(T, > T,) respectively.

P

4

5P, -+

e

...................................

0"V, 15V, 35V, 55V, V

Choose the correct option out of the following for work done if processes BC and DA are
adiabatic.

Options :

. Wee+Wpa >0

, Was<Wep

3 Was=Wnpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

. WpctWpa >0

, Was<Wep

. Wap=Wpc

. Wap=Wpc

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body takes 4 min. to cool from 61°C to 59°C. If the temperature of the surroundings is
30°C, the time taken by the body to cool from 51°C to 49°Cis :

Options :
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Correct Marks : 4 Wrong Marks : 1
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Options :

1. 3 min.
> 4 min.
3. 6 min.

4 8 min

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The number of molecules in one litre of an ideal gas at 300 K and 2 atmospheric pressure

with mean kinetic energy 2% 10~ | per molecule is :
Options :
. 075X 104



>, 1.5%10%

3 BxgH

4 16 X10H
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Assertion A:  If A, B, C, D are four points on a semi-circular arc with centre at ‘0" such

—

that |AB| = ‘BC| = ‘CD , then

—_— — - - —3 —

AB + AC + AD = 4A0 + 0B + OC

Reason R:  Polygon law of vector addition yields

—_ = - - —

AB +BC + CD = AD =2A0

B C

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :
Both A and R are correct and R is the correct explanation of A.

5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The figure shows two solid discs with radius R and r respectively. [f mass per unit area is
same for both, what is the ratio of MI of bigger disc around axis AB (which is L to the plane
of the disc and passing through its centre) to MI of smaller disc around one of its diameters

lying on its plane ? Given M is the mass of the larger disc. (MI stands for moment of inertia)

A

Options :
| 2RZ o

5 R2 : 12

3 OR% . 14

4 215 R%

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List- 1 List - II

(a) MIof the rod (length L, Mass M, about an axis L to therod (i) 8 ML%/3
passing through the midpoint)

(b) MIof the rod (length L, Mass 2M, about an axis L to the rod (i) ML2/3
passing through one of its end)

(©)  MIof the rod (length 2L, Mass M, about an axis L to the rod (i) ML%/12
passing through its midpoint)

(d) MIof the rod (length 2L, Mass 2M, about an axis L to the rod (iv) 2 ML?/3
passing through one of its end)

Choose the correct answer from the options given below :

Options :

;. (@)=(iii), (b)-(iv), (c)-(1), (d)-(ii)
,, @)-(iii), (b)-(iv), ()-(i1), (d)-(1)
5. (@)-(), (b)-(1), (0)-(iii), (d)-(iv)

5 (@)-(ii), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



At - I

() &3 M (Buet L, &t 3 Bie3 o vt o

7 M, e v e 3 e o)

(b) &=t T MI (Bt L, U M, 321 3 3193 o

7dt s feme o fig 3 Bt )
() =T MI (B 2L, A M,

et 0t 3 24 @ W e €3 d9 seg 4)
(d) e MI (St 2L, U 2M, 7 Tt fea i

R 8 I TR T Bt )
1 3 e 9 et §°99 9%

Options :

. (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
, (@)-(iii), (b)-(iv), (c)-(ii), (d)-(3)
5 (@)-(i), (b)~(i), (c)-(iii), (d)-(iv)

5 (@)-(i), (b)-(iii), (c)-(1), (d)-(iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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i) ML/3

(i) ML2/12



Three objects A, Band C are kept in a straight line on a frictionless horizontal surface, The
masses of A, Band Care m, 2mand 2 m respectively. A moves towards B witha speed of
9m/s and makes an elastic collision withit. Thereafter B makes a completely inelastic collision

with C. All motions occur along same straight line, The final speed of Cis :

A B C
m| [2m| [2m

Options :

, 6m/s

, 3m/s
; 4m/s

. dm/s

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

, 6m/s



, 3m/s

; 4m/s

. 9m/s

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Aball is thrown up with a certain velocity so that it reaches a height 'h'. Find the ratio of the

two different times of the ball reaching 5 in both the directions,

Options :

V3 -2
. N3 +A2

3 =1
, B3 +1

w
W | =

g2 =1
s N2 +1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A:  If in five complete rotations of the circular scale, the distance travelled on
main scale of the screw gauge is 5 mm and there are 50 total divisions on

circular scale, then least count 1s 0.001 cm.

Pitch
Total divisions on circular scale

Reason R : Least Count =

In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :

1.



Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct and R is NOT the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Suppose two planets (spherical in shape) of radii R and 2R, but mass M and 9 M respectively

have a centre to centre separation 8 R as shown in the figure. A satellite of mass ‘m’ is
projected from the surface of the planet of mass ‘M" directly towards the centre of the second

planet, The minimum speed ‘v’ required for the satellite to reach the surface of the second

planet is ﬂ% % then the value of ‘2" is .

[Given : The two planets are fixed in their position]

8R
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In a uniform magnetic field, the magnetic needle has a magnetic moment 9.85 X 10 -2 A/ m?

and moment of inertia 5% 10~ kg m®, If it performs 10 complete oscillations in 5 seconds
then the magnitude of the magnetic field is mT, [Take 7 as 9.83]
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A stone of mass 20 g is projected from a rubber catapult of length 0.1 m and area of cross

section 1070 m? stretched by an amount 0.04 m. The velocity of the projected stone is
m/s.

oune’s modulus of rubber=05x10° N/m?
&
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A transistor is connected in common emitter circuit configuration, the collector supply voltage
is 10 V and the voltage drop across a resistor of 1000 2 in the collector circuitis 0.6 V. If the
current gain factor (B) is 24, then the base currentis _ pA. (Round off to the
Nearest Integer)
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A prism of refractive index n, and another prism of refractive index n, are stuck together
(as shown in the figure). n, and n, depend on A, the wavelength of light, according to the

relation

=14 -14
10.8x 10 nd 112=1‘45+1.8><10
s \2

m =12+

The wavelength for which rays incident at any angle on the interface BC pass through without
bending at that interface will be nm.
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A particle of mass 9.1x 10" kg travels in a meditm with a speed of 106 m/s and a photon
of a radiation of linear momentum 10=% kg m/s travels in vacuum. The wavelength of

photon is times the wavelength of the particle.
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A radioactive sample has an average life of 30 ms and is decaying, A capacitor of capacitance
200 pF s first charged and later connected with resistor ‘R'. If the ratio of charge on capacitor
to the activity of radioactive sample is fixed with respect to time then the value of ‘R’ should
be (L
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Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

foe 331 Tt a5 30 ms = iR Gvg der I3 Tufez I far 41 200 k& Traee o e
T3 UIg" 970 o 7§ wid v 9 'R 300l 57 Rf w1 d | 99 79 3 TR
W3 3315 Tot w6 < fafour HieaT & i3 A © TS (AU ) feg 0T R T
_ 0T

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In Boht's atomic model, the electron is assumed to tevolve in a circular orbit of radius 0.5 A
If the speed of electron is 2.2 109m//s, then the current associated with the electron will be

.
X102 mA. [Take 7 as 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
§09 ¢ Y W38 169, 05 A iy fonm ¢ R Sogarg @ {9 fedags Wner Hion 4 |
wog fedaes &t a5t 22x100 m/s J 3 feBacs o8 HefER ade x10~2 mA

i o 22

RESINEER 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Consider an electrical circuit containing a two way switch S', Initially S is open and then T,
is connected to Tz- As the current in R=6 () attains a maximum value of steady state level,
T, is disconnected from T, and immediately connected to Ty, Potential drop across r=3 ()
resistor immediately after T,isconnected to Tyis V. (Round off to the Nearest
Integer)

R=60 T

[ 1

2, .T3
S1T,
L

q |0

3()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



9 fea fedioedtam (fams- et woae 86 oo <-adt wice 'S wike Tt 91 g 158, S vl
JW3T, T, 587 d | firk a R=6 0 4 e o waneg Vua ¢ G e 3 wdw e,
T, 87,3 3 w3 T T, 5B Wl J 1 T, 8 T, 578 75 3 fooe ¥mR 1=3 ()
Yf300d S WU VS VIS dl (59 Ve a3 91 uie)

R=6Q T
— 25
L

= r=3()
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The amplitude of upper and lower side bands of A.M. wave where a carrier signal with

frequency 11.21 MHz, peak voltage 15 V is amplitude modulated by a 7.7 kHz sine wave of

a a
5 V amplitude are EV and EV respectively. Then the value of N is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T e o B
A.M.memwm%emwﬁvmﬁv 35 fed 11.21 MHz megdf,
15V firg &8 5 féa 70a e § 5 Vo & 7.7 kiz ATETS (sine) 30T Mo Higie

d 3
bETHTﬁ J |

Response Type : Numeric

I T

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A

SectionId : 864351826
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Sub-Section Number : 1
Sub-Section Id : 8643511053
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The parameters of the unit cell of a substance are a=25, b=3.0, c=40, a=90°, f=120",
y=90°. The crystal system of the substance is :

Options :

1. Triclinic

5 I—Iexag(}nal

3. Orthorhombic

4. Monoclinic

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fow vereE & foore B @ MRS a=25, b=30, c=40, a=90F, p=120°, y=90°, 3 YEeH &
forrem fiamen 3 -

Options:

(o SRR 2 O

R ACISIT!

1.

2. é EHEE:'



- e, [a)

, MeEg

4, ]HEHSEEIEEIEEEE

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I :  Rutherford’s gold foil experiment cannot explain the line spectrum of

hydrogen atom,

Statement IT:  Bohr's model of hydrogen atom contradicts Heisenberg's uncertainty

principle,

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
1. Both statement I and statement II are true.
, Both statement I and statement II are false.

3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



6 € TG f63 T
Tl JEH ¢ M ¥ ST T W TS WS ¢ ot e & e ot o9

Rfc |
qEsll:  §00 € TS YGHTS & GHOT JRGRED MBHEES! fouH € UaR feat! 3 |
Qa3 13 w8 3 0o fisenn 3 ¥ @9 ¢

Options :

|, ©6 85 I3 386 I At 75 |

, 6 aEs I3 786 11 I%3 I5 |

; 385 I Adt T U3 3Es 1133 |

4, 385 133 I Ud &8s AT J|

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a reaction of order n, the unit of the rate constant is ;
Options :

. ]Il(}ll_n Ll—n 5_1
, moll Rl Rg
3 ]I'l(}ll_n L2ns—1

4 ]Il(}ll_n Ln—l 5_1



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

n et AHISGS Bet 291 AfFT wix © fearsnit T -
Options :

. mmll_" Ll—n S—]

, moll Rl Rg

3 II'lDll —1n LZII 5—1

4 mc-ll_" Ln—l S—]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II

List - I List - II
(a) NaOH ()  Acidic
(b) Be(OH), (i) Basic
() Ca(OH), (i) Amphoteric
) B(OH)
(e) AlOH);

Choose the most appropriate answer from the options given below :

Options :

;. (@)-(ii), (b)-(), (c)-(i1), (d)-(iid), (e)-(iii)

, (@)-(i1), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)



5. (@)-(i), (b)-(ii), (c)-(ii), (d)-(3), (e)-(iii)

5. (@)-(11), (b)-(ii), (c)(iii), (d)-(i), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

get - 12 met - 11 &8 fiHee a9

FoT - 1 gof - 11
(a) NaOH (i) 3t
(b)  Be(OH), (i) ud
(c) Ca(OH), (i) meefad
(d) B(OH),

(e) Al(OH),
J5 Ty fRamut 9 AgS 2o 839 & 95 a9
Options :

, @-(1), (b)-(), (¢)-(i1), (d)-(iii), (e)-(iii)

, (@)-(i), (b)-(ii), (c)-(iii), (d)-(1), (e)-(iii)

5. (@)-(i1), (b)-(iii), (c)-(ii), (d)-(1), (e)-(iii)

5, (@)-(11), (b)-(ii), (c)(iii), (d)-(ii), (e)-(iii)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statement that is INCORRECT about Ellingham diagram is :



Options :

, provides idea about reduction of metal oxide.
5 provides idea about the reaction rate.
, provides idea about free energy change.

, Pprovides idea about changes in the phases during the reaction.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wfsuH ey € g9 faosT a5s I%3 &

Options :

| feg ug varrEts ¥ syegE T19 SR J

, feg yHitfafanr € w9 79 g/ 9

] | = nat
3 I€d HolZ BddT gdd’'s 'd YHYT %

4, f&0 mitegs €9 nieAE=t © ST g9 TFTT J

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The proctuct obtained from the electrolytic oxidation of acidified sulphate solutions, is :
Options :

1.



HO,5050,H
, HO,S0S0,H

HO,500S0;H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 Avee W € farmet wiarlaas vaE foost U fueetuns det T

Options :
HO,SOSO,H
1.

, HO,S0S0,H

HO,50050;H
3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion A:  Lithium halides are some what covalent in nature.
Reason R:  Lithium possess high polarisation capability.

In the light of the above statements, choose the most appropriate answer from the options

given below :
Options :

, Both A and R are true and R is the correct explanation of A
, Both Aand R are true but R is NOT the correct explanation of A

3 Ais true but R is false

4. Ais false but R is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

36 fBfm € 986 05| &3 986 § fog oEs A foor 9w 21 § a9 o R fawr 9
fgommA: i I5EE o3 O 39 i9° &9 AforG 35 |

95 GBS R:  FEmM & U9etaeE @1 23T 593 =0 U

J5 fafimi qest o B g 3 feamut & Fed wae B3 dhde o :

Options :

'ﬁﬁAH@RHﬁaﬁh@R,A@'@HW%I

1

.%%AnéRnﬁaﬁnéR,Aé’rmﬁwfuwm?%l

2

3 ARt T Ug RIS3 |



4 AT®3 JUI R AT T

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The oxidation states of ‘P in H,P,0,, H,P,O; and H,P,0,, respectively, are :
Options :

1 6,4 and b

5. 5, 4.and 3

3. 5, 3and 4

, 7,5 and 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H,P,0,, H,P,O: %3 H,P,0,, fSg ‘P’ nraHlage neAE qHed I&

Options :
16,4135

1
, 5, 4133

, 5,3n34

, 7,536



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of hybridisation and magnetic property of the complex [MnC16]3", respectively,
are

Options :
2o ;

. d“sp” and paramagnetic

sp°d? and diamagnetic
2.

sp°d? and paramagnetic
3.

d?sp® and diamagnetic
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BurAfartre [MnCL P~ €9 Aads € foarH »i3 J8a3 I8 gHd U6 :

Options :

1 d2sp3 i3 niggEat
, sp3d? miz yISiggat
; sp3d?2 m3 niggEalt

, d2sp? ni3 gt



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of geometrical isomers found in the metal complexes [PtCL(NH,),|, [Ni(CO),
[Ru(H,0),CL] and [CoCl,(NH,),]* respectively, are

Options:

4,1, 4,4

,2;0,2.2

. 21,81

.21,32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

73 BurfofGRs [PICL(NHL) ), [Ni(CO),), [Ru(H,0),CLy] w3 [CoCL(NH,), | & Frers et
Rvaer & foedt 1

Options :

A1, 14

, 20,22

. 21,24

21,22



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is NOT correct ?

Options :
, The dissolved oxygen concentration below 6 ppm inhibits fish growth
5 Eutrophication indicates that water body is polluted

2 Eutrophication leads to increase in the oxygen level in water

A Eutrophication leads to anaerobic conditions

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Jo fsfumr &9 fagsT o8s aia &dt I ?

Options :

. 6ppm 5B Uiz WiB3 WigHAG HESh & @0 & Joet J

e, =

, gedtfeans uat a8t (water body) ¥ usefhz d= &9 @ret J

Lo i ]

catfeams ust & &g miaHAs € HSaT € U S8 & o de J

g

3.

B o O T

, Bedtfedms WMTSHHS T 319 I/HoT ©f AJS % & o 7t J|




Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one among the following chemical tests is used to distinguish monosaccharide from
disaccharide ?

Options :

1. Seliwanoff’s test

, Barfoed test

3. Tollen’s test

4. lodine test

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FRRATE3 13 8T ATE3 & wod-nma Ufggs e Bt foaos dfed ore & 93 aist
it 77
Options :

| AStE™sE 2AS

= =
7 d'ded CHC

3, TBE SHE

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Staggered and eclipsed conformers of ethane are :
Options :

1. Rotamers

5 Mirror images
3. Enantiomers

A Polymers

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fumdt (Staggered) i3 JfaE3 (eclipsed) EIEE € AHNIIRT TS :
Options :

., ISTHIA

.mqﬁﬁa

2

; YJTHI AHMAIE (enantiomers)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@ @
CHZ - CH CH3 — CH2 HCEC
A B (2 D

The correct order of stability of given carbocations is :
Options :

1 D>B>C>A

, A>C>B>D

., C>A>D>B

., D>B>A>C

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@

CH,
@ @ @
CH2=CH CHS_CHZ HCEC
A B & D
FTIHTSTSH WS ©f fHEIST o A g1 ©F 95 99
Options:

, D>B>C>A

, A>C>B>D



., C>A>D>B

. D>B>A>C

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Presence of which reagent will affect the reversibility of the following reaction, and change it
to a irreversible reaction

Reversible
Options :
1 Concentrated I—IIO3

,, HOCI
, Liquid NH,

dilute HNO,
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fogs miseaa & 8 I 3 AHlews 3 ufewassl 3 o ufoeass! Hides § gt

ho

CH, +1, . CH, - [ +HI

Options :



ar=r HIO,

1.

, HOCI
39% NH,

u3s HNO,
4,

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one of the following compounds will give orange precipitate when treated with

24-dinitrophenyl hydrazine ?

Options :
O
I\CH3
1.
o)
kOctﬂ;g::H3
2.

OH

OCH,CHj



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

05 T ot foraa Wt A a1 € e 2= 7 QRY 2 4-5TEreI Serets eSS 8 fafgnr
qE 7% 7

Options :
O
kf:H3
1.
o)
ki:m:HECH3
2.
OH
OCH,CH,
5 O



f"l=0

e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H3P‘O4 A (BH3)2 > P
120 & (Major Product) HyOo/OH, HyO  (Major Product)

Consider the above reaction and identify the Product P :

Options :

3 £
1. i
OH
2. f



CH;
OH

O

OH

OH

On

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

H3P04 A (BH3)2 > P

120°C (o &) H,0,/OH, H,0  (Hy 8uR)

O

Buadas mitads feg Bun P &t ufgezs oq:

Options :

CH; OH



CH;
OH

OH

OH

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  Aniline is less basic than acetamide.

Statement I :  In aniline, the lone pair of electrons on nitrogen atom is delocalised over

benzene ring due to resonance and hence less available to a proton.
Choose the most appropriate option :
Options:
1 Both statement I and statement II are true.
, Both statement I and statement II are false.

3 Statement I is true but statement II is false.

4. Statement I is false but statement II is true.



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7' € o 3 T T

T WA, WRTHTEIS AT WS Y 3eT J |

s I1: i, aters GUT mfaaTtvs femaers & WaM aad Sare fodl © o8 RWAHS a1as
P % B9 R

Options:

| ©6 85 I3 386 I AT 75 |

, 5 aEs I3 qEs 11353 I5 |

5 386 1At I U3 &8s 11 353 J|

4, 085 133 I U3 85 I AT J|

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - II
(Drug) (Class of Drug)
(a) Furacin (i)  Antibiotic
(b) Arsphenamine (ii) Tranquilizers
(c) Dimetone (iii) Antiseptic
(d) Valium (iv) Synthetic antihistamines

Choose the most appropriate match :



Options :

;. (@)(iii), (b)-(1), (c)-(v), (d)-(ii)
o @-(1), (b)-(iii), (c)-(iv), (d)-(i1)
5, (@)-(), (b)-(1), (0)-(iii), (d)-(iv)
5, (@)-(id), (b)-(iv), (0)-(i1), (d)-(1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et - 103 Fet - 11L& tHoe &

Aot- 1 Fet - 11
(EEY/miFh) (niFdt/eeret & famm)
(a) feBamis () ySfed
(b) MOAGEHIS (i) AT
(c) 3EtHes (i) JarEEH
(d) <fenm (iv) TFE/AASASTHA Y3t famcHs

g3 o< B39 & 9T o

Options :

. (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
5 (@)-(ii), (b)~(1), (c)-(iii), (d)-(iv)

;. (@)-(iii), (b)-(iv), (c)-(ii), (d)-()



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0

The compound ‘A’ is a complementary base of in DNA strands.
Options :
1. Guanine

> Adenine

N Cytﬂsine

4. Uracil

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



H
H,C | N~
l‘ﬁ/k"
H
(A)
wfo ‘A’ fex & yad ¥ DNA Ae9sd &9 T :
Options :
, maTfEs
3. H Eteths
g
4. =
Chemistry Section B
Section Id : 864351827
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number :

Sub-Section Id : 8643511054
Question Shuffling Allowed : Yes

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The density of NaOH solution is 1.2 g cm ™. The molality of this solution is m,

(Round off to the Nearest Integer|

[Use : Atomic masses : Na:23.0u 0:160u H:1.0u

Density of Hy0: 1.0 ¢ ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e NaOH U & wear 12 g em =31 e U & Howsr

3 )

[0 wsdt 39 Na: 800 0:160u H:10u
et & e 1.0 gcm‘g’%ﬂ

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

1

n 31 (659 3% o



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between bond orders of CO and NO® is

off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

COWENO(JBEHEﬁaﬁETWEﬁHx:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

X
~ Where 1= . (Round

| (839 538 Y5 val 3 fi5v)



Correct Marks : 4 Wrong Marks : 0
For water at 100°C and 1 bar,

Amp H—Avap U= X102 ] mol =L, (Round off to the Nearest Integer)
[Use : R=831] mol ' K~]]
[Assume volume of H,O(l) is much smaller than volume of H,0(g). Assume H,0(g) can be

treated as an ideal gas|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

100°C 3@ »3 1 bar Jo Ut &

Aygp H4,, U= X102 mol ", (B39 3% vaw il 3a i)
@93 : R=8531] mol 1K~

[M6 H,0() & mw35 H,0(g). © mws & 893 We Jer 3 3 H,0(g) fét nireaw am 4]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0
146 g of a biopolymer dissolved in a 100 mL water at 300 K exerted an osmotic pressure of
242%107 bar,

The molar mass of the biopolymer i x10* ¢ mol ™%, (Round off to the Nearest
Integer)

[Use : R=0.083 L bar mol = K~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

146 aH 0 Hea Fgpa § 100 mL vt 18 300 K 3w 3 uifenr fanr 3 frrer wamee &8
242103 bar J |

o bt B i S ><104gm01‘13| (@EMWW%{M)
(@3 : R=0083 L bar mol -1 K~

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0

PCl; = PCL+ClL, K =184

3.0 moles of PCls is introduced ina T L closed reaction vessel at 380 K. The number of moles
of PCly at equilibriumis _ x10~ 3, (Round off to the Nearest Integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

PCl, = PCL,+Cl, K =1.84

380 K 3nns €3 3.0 W8 PCl; 3 11 ¥ 9935 €9 urlenr wier ) 3t #3153 niemer 3 PCL
¥ x10~3 Wt & forest 1. (B39 339 w9 vig 34 fi)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The conductivity of a weak acid HA of concentration 0,001 mol L™ is 20x10™Sem ™, If

A{;n(HA):1908{21‘112 mol™!, the ionization constant (K,) of HA is equal to

X108, (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.001 #3 yt #fes a3 f¥a @ 39 HA & o®asr 2.0x107°Sem~! 31 #a9

Ap(HA) =190 cm® mol ™ & wioferas At el (K ) x107% 2 HA 5999 31
(839 3 s il 3a fid)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



CO, gas adsorbs on charcoal following Freundlich adsorption isotherm. For a given amount
of charcoal, the mass of CO, adsorbed becomes 64 times when the pressure of CO, is doubled.
The value of n in the Freundlich isotherm equation is x10~2 (Round off to the
Nearest Integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T eaesita AET Aug T CO, a Rft3 oget 91 e fest araa & Haar s, A
T CO, & 99 64 & 3 7@ 9 7 CO, ¥ 29mi § T9@ oy e | gorfesfiial it mifoee feg
nTHS__ x10727 1 (837 33 S mia 3a )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of geometrical isomers possible in triamminetrinitrocobalt (If) is X and in
trioxalatochromate (III) is Y. Then the value of X+Y is .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aehmis Teteete deme (1) w3 e dare (11) § frgedian mdget & foest ghem
XY X+YT o o

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In gaseous triethyl amme the “~C-N-C-" bond angle is degree,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
it zrEtetEEe mits ffg “~C-N-C-" Uz oz fsart 31

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An organic compound is subjected to chlorination to get compound A using 5.0 g of chlorine.
When 0.5 g of compound A is reacted with AgNO, [Carius Method], the percentage of
chlorine in compound Ais _ when it forms 03349 g of AgCl. (Round off to the
Nearest Integer)

(Atomic masses of Ag and Cl are 107.87 and 35.5 respectively)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fer arasfed Wi & TIoRS o6 3 i A BeET 4 A 19 5.0 aTH i &3 atst ot ) e
0.5 9 Wleer A & 2wiam fedk &7 AgNO, w75 ySHfofon arwerfonr fer 91 i A fee ais &
_EmE ST, 03849 AeCl B U1(89 A% van i 34 i)

(Ag g Clwest 319 e 107.87 13 35,5 T0)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
Section Id : 864351828
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511055
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let Pand Q be two distinct points on a circle which has center at C(2, 3) and which passes
through origin O. 1f OC is perpendicular to both the line segments CP and CQ), then the
set{P, Q} is equal to :

Options:

(2 +242,3+5), (2-242, 3 - 5))

, (2 +242,3-45), (2-242, 3 + J5)]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ho 88 o ¥ag frer 89 C(2,3) 3 M3 HE O 1 Bwer I Qo ¥ g g P Q 5 |
0C & T CP w3 (Q £ B9 &% 37 Mya (P, Q) T99 9 :

Options :

{(2+2v2,3+45), (2-2v2,3-5))

1.

, {(2+242,3-5), (2-242, 3+ 5))



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_>

A A A — A A A
leta=1i+j+2kand b ==i +2j +3k. Then the vector product

(Z+§)x ((;x ((;—;)x g))x E) is equal to :

Options :
A A A
: a\M i —=By +7k

A M M
5 2\ =By +7k

A A A
3 I\ —fy 43k
A A A
A 33 —51+3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— A A A A

o N &, L A IV
HoBE AT a =i+ j+2kM3 b =—i+2j +3k 3¢ T T5eH

(2 Dl wllld ) D)l Bl

Options :

M M M
: a\Mi1 —=By1 +7k



e M A
01 =51 +7k

A At M,
, 5(34:‘ ~5] +3k)

A A A
A 133 =87+ 3k

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11 11
If the coefficients of 1 in (xz - bi] and 177 in [x - bl—z] ,b# 0, are equal, then the
. X X

value of b is equal to :

Options :
1. = 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



il | 11

ﬂaa[f—le ;biﬂﬁﬂx??mh@[x-;—z] fe9 ¥ =7 T T §dEg I3, 3¢ b
X X

TR

Options :
1.~ 1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the area of the bounded region

<x<?2

R =1(x, y) : max{0, logx} < y < 2%, %
is, a(log,2) ~! +B(log,2) +7, then the value of (a+p 2v)? is equal to :

Options :
1. 1



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

- - ] g ] =
Jq3 fug 32 d3 R= (w)rmax{&logeﬂiyﬂ2’35HE? T 4338

aflog.2) "1 +B(log, )+ 4 FE (a4 p- 2y T HE W J ;

Options:

1.1

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

12

A=
Let 14

} If A‘1=uI+BA, o, B eR, Tisa2x2identity matrix, then 4(a—p) is
equal to:
Options:

1. 2

2. 4



W] oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 11]. ; i m
H5 9 A{_l J 739 A~1=al+pA, o, p ¢ R, 169 2x2 & 3mi ifeam J, 3¢
Yoa-p) TE

Options :

1.2

2.4

w| oo

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from the point P(-1, 1) to the circle 2%+ P-2e-6y+6=0. If
these tangents touch the circle at points A and B, and if D s a point on the circle such that
length of the segments AB and AD are equal, then the area of the triangle ABD is equal to :

Options :
1. 2

2. 4



5 (3v2 +2)

. 32 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

§a9 12 +y2-20-6y+6=0 § g P(-1,1) 3 ¢ Huaw o fufert b 6 | veg g
FUGH 4T ¥4 § g A 3 B & HUGH aoehn 36 i3 D ¥aq 3 o fig  fa AB »i3 AD
43" & 99Te 99 J, 3¢ f99 ABD ¥ ¥99€8 09 J

Options :

1. 2

2. 4
5 (3V2 +2)

. 3(V2 -1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let C be the set of all complex numbers. Let
S,={z e C| |z—3-2i*=8},

S,={z e C| Re(z) =5} and
S,={zeC||z—-Z|=8}.

Then the number of elements in S; NS, N S; is equal to :

Options :
1. 0

.. Infinite

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H& B8 C Ao mfaz Aftmre € Ayg I 1 Hs 36
S,={z e C||z—3-2i>=8},

S,={z € C| Re(z) =5} "3

S,={ze C| |z —Z|=8)

3¢S, NS, NS, T 337 &1 faredt g99d J -
Options :
1. 0



4 MHITH3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the plane passing through the point (=1, 0, -2) and perpendicular to each of the planes
2t+y-z=2and x-y-z=3 be ax+by+cz+8=0. Then the value of a+b+c s equal to

Options :

1.9

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H6 B8 38 av+by+cz+8=0 g (~1,0, -2) 9 Buer I 3 &€ 3§ y-2=2m3
1-y-2=3 @*?F@??Efaj?a-l-bﬁ-c NG EHI J

Options:
1. 5



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e f—
T|—

Let , B be two roots of the equation x* + 20)¢ x + (52 = 0. Then o® + B8 is equal to'

Options :

, 100
, 10
5 50

4 160

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H6 B8 o, p Mftags «? + (20)
Options :
. 100

1
2

e[ —

x+ ()2 =0 € HE 53¢ o8 +p8 H9HT J
, 10
5 50

4 160



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: (—E,f EJ — R be defined as

3a
|sinz|

(1+[siny) ,-=<x<0

flx)=" b .a=0

ecatélx/ cot2x

F)

D<x<Z
=

If fis continuous at x =0, then the value of 6a +b?is equal to :

Options :
1 1+e

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



He 38 f: (— E EJ — Rewgr ufggmis J -

3a
|sinx|
(1+ |sin) ,—-—<x<0
Fx) = b, x=0
pcotdx/cot2x g podt &

Hdd x=0 3 fBAr39 J, 3¢ 6a+b2 T HS IHT J :
Options :
1 1+e

4, €1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let

A={(x, y) e RXR | 262+2y2-2x -2y =1},

B={(x, y) e RXR | 4x*+4y>—16y+7=0} and

C={(x, y) e RXR | x2+ 1> —dx -2y +5 < 12},

Then the minimum value of |r| such that A u B c Cis equal to:

Options :



B 4 10

, 1++/5

2 4-J10

3 +245

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hs B8

A={(x, y) e RXR | 22x2+2y2—2x—2y =1},
B={(x, y) e RXR | 4x2+412—16y+7=0} ™3
C={(x, y) e RXR | x>+ y?>—4x—2y+5 < r?}
3¢ |r| o foGa3H g Aefa AUBc C H98T J:

Options :

3 410
1. 2

, 1++/5

i T
3. 2



3+25

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the mean and variance of the fu]luwing data :

6, 10, 7,13, a,12, b, 12

37 : 7 .
are 9 and — respectively, then (a—b)= is equal to :

4
Options :

1. 16
2 12
3. 24

4. 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

379 35 it i 6,10,7,13,a,12,b,12@ﬁﬂ1—ﬂ37v|§“1[m§l}@ﬂ9?11?%Uﬁl X

@-bETEE I :
Options :
1. 16



2 12
3 24

4, 32

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d
Let y=y(x) be solution of the differential equation log, (TV
dx

2
If y[- 5 lOgQQJ = a log,2, then the value of « is equal to :

Options :
1

. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J =3x + 4y, with 1(0)=0.



s B8 y=y(r) Shedutvs mlaas log{__,(%]:?pxﬁ-ﬁly 58 y(0)=0 739
X

2 | g u :
y(—glogEZleogQ o T HE I :

Options :

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1
If sinf + cost = X then 16(sin(26) + cos(468) + sin(66)) is equal to :

Options:
1. 23

2. =23
3. 27

4. —27



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

< 1 -
W sinf + cosd = - I2 16(sin(20) + cos(46) +sin(60)) TTI J:

Options :
1. 23

2. =23
3, 27

4. —27

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The probability that a randomly selected 2-digit number belongs to the set {ne N : (2"~2) is

a multiple of 3} is equal to

Options :
1

1. 2

N
LI | =

WM



&
O | =

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¥399! 57 9e ke 2t B A S M fn e N (21-2), 3 T AB T ) § e e o

A0 9 4
Options :
1
1. 2
1
2. 3
2
3. 3
1
a4 6

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Aray of light through (2, 1) is reflected ata point P on the y-axis and then passes through the

1
point (5, 3). If this reflected ray is the directrix of an ellipse with eccentricity 3 and the

distance of the nearer focus from this directrix is & then the equation of the other directrix

can be ;
Options :
. 2x—7y—39=0 or 2x—-7y—7=0

11:c+?y+8=[] or 11x+?y—15=0
2.
3 2x—?y+29=0 or 2x—?y—?=0

11x—?’y—8=0 or 11x+?y+15=0
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

am! < e faws (2, 1) oty 70 §3 g P 3 waeafs3 3 4 3 feg i (5, 9) fed Bwed 0

) p_p 1 = [ L w ¢
0 YIRS 1962 - WHaees % fefoun & fswHa 3 9 03 foR i o 3 538

mﬁgﬁ%ﬁ,@gﬂﬂmﬁwmﬂmﬁm%:

Options :

2x—7y—39=0 d" 2x—7y—7=0
1. :



, 1lx+7y+8=0 7 11x+7y—15=0
, 20=7y+29=0 7" 2x-7y—7=0

, 1x—7y—8=0 7" 11x+7y+15=0

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The compound statement (P v Q) A (~P) = Q is equivalent to :

Options:
, (F=0Q)
. Pa~C)

2

, " P=>Q&Pa~Q

2 PVQ

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fHiafa3 396 (P v Q) A (~P) = Q AHETES J :

Options:

~(P=Q)

1

Z_PANQ



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R — R be a function such that f(2)=4 and f'(2)=1. Then, the value of

B e
limw is equal to:
12 x-2

Options :
1.4

2. 8
5. 12

2. 16

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

588 R o R 725 3 8 (= =1 3 i L0 Y0 s

x=2 )

J:

Options :
1. 4



3 12

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n (2§ —1)+8n

i)
lim —
The value of Z (27 —1) +4n

Options :

5 + log, [%J

1+ 2log, [%J

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

is equal to :



n -
ljml z (2] —1) +8n

2/—1) +4n o JH3 9999 J :

Options :

3
a4l —
oge|3)
3
142 ) —
oge|3)

2
2 —log, [—)
3. 3

3+ 2log, [%)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The value of the definite integral

Jr
[
_%(1 + e%05%) (gin*x + costx)
is equal to :
Options:
1%

. 242



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i dx

fnits fesciams [E PRy —— L L




Mathematics Section B

Section Id : 864351829
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511056
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a plane P pass through the point (3, 7, —7) and contain the line,

=2 y-3 2+
-3 2

. If distance of the plane P from the origin is d, then d* is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ho 88 35 P fég (3,7, -7) 55 Bur d o o G

#oq e 3 38 Pt gdt d J 3¢ ¢ waeg J

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2

sin“x —2 4+ cos

- < 2 e

Let f(x)=|2+sin“x  cos“«x
si112x ccnszx

Then the maximum value of f(x) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

x-2 y-3 242 . .
A 1aw€r|
cos2x
cos2x |, x € [0, w].
1+ cos2x




Question Type : SA

Correct Marks : 4 Wrong Marks : 0

si112x -2+ coszx cos2x
Ha 38 f(x)= |2+ sinx  cos®x cos2x |, x € [0, 7]
sinzx mszx 1+ cos2x

cly

3¢ f(x) € MUISH HS 99799
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let F: [3, 5] = R be a twice differentiable function on (3, 5) such that

Fr) = ¢~ j;(3t2 42t 4 4F (g,

_ neP =24
Car

If F(4) then e+ is equal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
We B9 F:[3, 5 - R ffa ¥ @9 f3edfmies e85 (3, 5) ¢ wefa

b -0
=, 3¢ a+p TTH i
¢ - -

Fx) =¢ " E(at? F 2 AF()t 75 Fld)=

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= AA A = A A e
Let a=i+j+k band ¢ =j-k be three vectors such that 3 x b = ¢ and

5 - - - -
a * b =1. Ifthe length of projection vector of the vector b on the vector a X ¢ is/, then

the value of 3/ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA

Correct Marks : 4 Wrong Marks : 0
S -

%B@a—z+1+kb’ﬂ§c— kﬁﬁéﬂ?ﬂﬂﬁmaxb-cbﬁ b =1

20 e o) o e e 0 x ¢ el Qe e o 450§ 9 i
3 o G i S @ e 13, Se R w3
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the domain of the function

f(x) =logy (lﬂgs(lﬂgs (131 —x* - 77))) be (a, b).

Then the value of the integral

J;b sin® x Py
(sin’x + sin®(a + b — x))

is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

logy 181 -»* -77))] T (a,b) J1 IE fesleaay

H6 B8 385 /() =logy |logs

Ib sin’ x .
& & 3 59q ol

d (si113:c + sin3(a + b~ )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1
Question Type : SA
Correct Marks : 4 Wrong Marks : 0

, T
If log,2, logs(2°-5), logs (21 : E] are in an arithmetic progression, then the value of x is

equal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

739 log:2, log,(2"-5), logs (23' - g] WaIe3Ia B2 28 T6 3¢ 1 & HE 5o
of

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For real numbers « and B, consider the following system of linear equations :
xty-z=2, x+2y+taz=1, 2x-y+z=p.
If the system has infinite solutions, then a+p is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
THI(d At o w3 B B, I5 fodnm Jfa Atage et &<

x+y—z=2, x+2y+taz=1, 2x—y+z=

Had Y&8t 9% iz 78 76, 3¢ a+p ¥IH9 JI
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LetS={1,2,3,4,5, 6, 7). Then the number of possible functions f: S - S such that

f{mn) =f(m)f(n) for every m,n e Sand m-ne Sis equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Ho B8 5={1,2,3,4,5,6,7) 38 f:5 S 3 aB6' o frcdt 7 floen) ={m)(n) 7

=

m neS M3 mneS B TTHT d |
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

It y=y(x), y{of %] is the solution of the differential equation

sec y% = sin(x + ) - sin(x - y) = 0, with y(0) =0, then Sy’[g] is equal fo .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Had y=y(x), ye {O, %] fsedfmis miaae secy% ~sin(x + y) - sin(x - y)=0 3'8

(0)=0, 54%] WE_ J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let f: [0, 3] - R be defined by

f(x)=minfx~[x], 1+[x] -x}

where [x] is the greatest integer less than or equal fo 1.

Let P denote the set containing all x € [0, 3] where fis discontinuous, and Q denote the set
containing all x € (0, 3) where fis not differentiable. Then the sum of number of elements in
PandQisequalto .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W6 B8 f:[0,3] - R fa)=minfy~ o], 1+ [x] ) T feares 3, ¥ o] i s i

1 3 U 7 9 |

W5 B9 P 7y § T 4,

e (o7 J Qa8 AG x ¢ [0, 3] € HYT P &8 Sarrienr fopar J 3 i f faedfimmes &t 0

898 W3 x ¢ (0,5) & R Q &7 wartent foar | e P 3 Q &1 397 & forewr v o v
fl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



